
Adding Doubles Plus 1 (H)Use an adding doubles strategy to find each sumExample: 6 + 7 = 6 + 6 + 1 = 12 + 1 = 135 + 6 = 4 + 5 = 6 + 7 = 
3 + 4 = 6 + 7 = 0 + 1 = 
9 + 10 = 9 + 10 = 8 + 9 = 
1 + 2 = 3 + 4 = 2 + 3 = 
6 + 7 = 5 + 6 = 5 + 6 = 
0 + 1 = 8 + 9 = 7 + 8 = 
7 + 8 = 0 + 1 = 3 + 4 = 
8 + 9 = 2 + 3 = 1 + 2 = 
2 + 3 = 7 + 8 = 4 + 5 = 
4 + 5 = 1 + 2 = 9 + 10 = 
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Adding Doubles Plus 1 (H) AnswersUse an adding doubles strategy to find each sumExample: 6 + 7 = 6 + 6 + 1 = 12 + 1 = 135 + 6 = 4 + 5 = 6 + 7 =5 + 5 + 1 = 11 4 + 4 + 1 = 9 6 + 6 + 1 = 1310 + 1 = 11 8 + 1 = 9 12 + 1 = 133 + 4 = 6 + 7 = 0 + 1 =3 + 3 + 1 = 7 6 + 6 + 1 = 13 0 + 0 + 1 = 16 + 1 = 7 12 + 1 = 13 0 + 1 = 19 + 10 = 9 + 10 = 8 + 9 =9 + 9 + 1 = 19 9 + 9 + 1 = 19 8 + 8 + 1 = 1718 + 1 = 19 18 + 1 = 19 16 + 1 = 171 + 2 = 3 + 4 = 2 + 3 =1 + 1 + 1 = 3 3 + 3 + 1 = 7 2 + 2 + 1 = 52 + 1 = 3 6 + 1 = 7 4 + 1 = 56 + 7 = 5 + 6 = 5 + 6 =6 + 6 + 1 = 13 5 + 5 + 1 = 11 5 + 5 + 1 = 1112 + 1 = 13 10 + 1 = 11 10 + 1 = 110 + 1 = 8 + 9 = 7 + 8 =0 + 0 + 1 = 1 8 + 8 + 1 = 17 7 + 7 + 1 = 150 + 1 = 1 16 + 1 = 17 14 + 1 = 157 + 8 = 0 + 1 = 3 + 4 =7 + 7 + 1 = 15 0 + 0 + 1 = 1 3 + 3 + 1 = 714 + 1 = 15 0 + 1 = 1 6 + 1 = 78 + 9 = 2 + 3 = 1 + 2 =8 + 8 + 1 = 17 2 + 2 + 1 = 5 1 + 1 + 1 = 316 + 1 = 17 4 + 1 = 5 2 + 1 = 32 + 3 = 7 + 8 = 4 + 5 =2 + 2 + 1 = 5 7 + 7 + 1 = 15 4 + 4 + 1 = 94 + 1 = 5 14 + 1 = 15 8 + 1 = 94 + 5 = 1 + 2 = 9 + 10 =4 + 4 + 1 = 9 1 + 1 + 1 = 3 9 + 9 + 1 = 198 + 1 = 9 2 + 1 = 3 18 + 1 = 19Math-Drills.Com


